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Lecture 2 Solution

Chapter: Eight
Fractions (solution)

Note 1 Find larger or smaller. Put the symbol “<” or “>”

Solution:

23 . 35 . 1l ,. 343
® 5Hs @ 5Es @ B; @ sk,

1. Arrange the following from smaller to larger and show it by symbols

2222
(1) PP
3985
Solution: 3<3<g<g
9 8 5 3
3 333
(2) R R R R
710 35
Solution: i<§<§<§
10 7 5 3
5555
(3) Ty v v o
10 6 15 9
Solution: i<£<§ S
15 10 9 6

8.4 Equivalent Fraction

(1) Find equivalent fraction of %

Solution:1=g=§=f:£
4 6 8 10

(2) Find equivalent fraction of %

Solution: Ezgzgzg
3 9 15 18



(3) Find equivalent fraction of %

Solutmn%:g 4 _5_6

9 12 15 18

Ex: 2 Using the number lines, find the missing numbers

1 2 O
(1) > == (@ £ =
4 0O 10 5
Solution 2 :g Solution: 4+2 :
x 2 10+2 5
12 4
— 3 Ans: — ==
i1y 10 5
6 0O 6 3
3) = =™ 4) ===
OF R @ 50
Solution: —3 _j— Solution: E — 3
9+3 3 +2
Ansg Ans _:E
9 3 8 m

Ex:3 Find the missing numbers.

1. 0

SF 2 12

Solution: 1x6 E

2x6 1
Ans: E_@
2 12

5 10
@5 5

Solution: 5x2 _ E

6><2




Ans: E—E
6] 12

3 12

@) 41—

Solution: 3x4 = E

4x41 16

Ans: §—E
4

.
e~

7><3_
8x3 24

7 L

'8 24

Solution:

Ans

Ex:4 Make five equivalent fractions of% freely.

) 2 4 6 8 10 12
Solution: = =—=—=—_=""-"C2
5 10 15 20 25 30

Ex:5 Find the missing numbers

3
@3-

Solution: E




ANs: — =
4 1
3) —==
(3) P
] -4 1
Solution: ==
“[=]
Ans: i—l
12
8
4) — =—
@ 20 5
Solution: 6+4 _Z
204 5
Ans:E
20 5

Ex:6 Make three equivalent fractions of % by dividing numerator and denominator of

the fraction by the same number.




Exercise(1)

2. Find the missing numbers.

1
1) ===
(1) 36
Solution:
3><2 6
Ans 3—2
6
3
2) —=—
@) 7 28
Solution 3X4=
7x4 28
Ans §_
7 28
3
3) 2 =
@) 4 28
Solution 3><7=2—n
X 28
Ans: E_ 21
4 28
4 12
(4)
Solution: 4x3 12
5><3
Ans: ﬂ 12
5 [15




2 16

6 $==

2x8 _E
9x8 |72

Solution:

Ans: E—E
9 |72

5_30

@)g

Solution: 5X6:@
8x6

Solution: H
204 5

Ans:E=§
20 5

28
9) = ==
® 3%

28+ 4

Solution: =
364

9



Ans: @

36 9

N

33 1
10) > ==
()66

33+:33 1

66 + 33

Solution:

.|.
|
La) -

w
=3
c
=
o
=)
|
o] [M)S)




